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Please check that this question paper contains 12 printed pages.

Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

Please check that this question paper contains 27 questions.

Please write down the Serial Number of the question before attempting it.

15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.
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General Instructions :

(i)  All questions are compulsory.

(ii) Questions number 1 — 5 are of one mark each. The answers to these questions
should not exceed 20 words each.

*  (iii) Questions number 6 — 10 are of two marks each. The answers to these questions
should not exceed 40 words each.

(iv) Questions number 11 — 16 are of four marks each. The answers to these questions
should not exceed 100 words each.

(v) Questions number 17 — 21 are of five marks each. The answers to these questions
should not exceed 150 words each.

(vi) Question number 21 is a map-based question. Write its answers in your answer-
book.”

(vii) Questions number 22 — 27 are of six marks each. The answers to these questions
should not exceed 150 words each.

1. TERRIwE # AR & e R ST e e a1 ol AT T T 4 2 2% 3 =

Which two objectives Jawaharlal Nehru wished to achieve through the strategy of
Non-alignment ?

2. A Y A ot B A E SR w2 S o st T R A A
TaTERYT et SR ? 1
Which one of the two is more essential — construction of mega dams or an
environmental movement that opposes it and why ?

3, afew # 3ER | Hetud Frefefad FeA § § $9 90 W6 e 2 1
(a) T% Geiafa qen Sraer) fave % s fawe & e 9t |
(b) 3w Fwtor ficfr fava g % qia ve AT T |
(c) i gRT T 9 Faw=R, 1989 F are fam T |
(d) & STEAT 3 FHT 9T % TERIHLT S o |
Which one of the following statements about the Berlin war is false ?
(a) It symbolized the division between the Capitalist and the Communist world.
(b) It was built immediately after the Second World War.
(c) It was broken by the people on 9" November, 1989.
(d) It marked the unification of the two parts of Germany.
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fauet sieie & waifus 3 Tee] F AR ST |
Highlight the most novel aspect of the Chipko Movement.

G (TTHETT.) B TG 41 i TS ?
Why was ASEAN established ?

i g & Fet F b 41 Feramratt ® o et a1 SR 2

Which two ideologies were involved in a conflict during the Cold War era and why ?

2x1=2

FTETE 1950 % 39 &, 39 F N e AR SR W iTed A T o, wfe e
= 1966 T Wellen ¥t HA TS 2

While the rest of the country was reorganized on linguistic lines in 1950s, why had
Punjab to wait till 1966 ?

A W ¥ e TSI P O & W ¥ A8 @ §; & TSI B HHT 3 FEEE 6

IUE A & 3T T FIT § FET 9% GeHd § 2

“The leaders of the newly independent India did not see politics as a problem; they
saw it as a way of solving the problems.” How far do you agree with the statement ?

TSR A 1 GieT 9 R E e 0 R T ?

How was the reorganization of North-East India completed and by when ?

frefefaa & @& frem Fie

(a)
(b)
(c)
(d)

(A)
Tl | Uit foamms Fafw
1974 H {oT@ Y A FT A (641
Few Hiee § e & ¥ TH
e e 9 i

Match the following :

(a)
(b)
()
(d

(A)
A politically controversial appointment
Led the Railway strike in 1974
Declined to join Nehru’s Cabinet
Died in police custody

6]

(i1)
(iii)
(iv)

(i)

© (iid)

(iv)

(B)
% TERN
STV ARG
S e
=i T, ¥

(B)
Charu Majumdar
Jayaprakash Narayan
George Fernandes
Justice A.N. Ray

4xY2=12
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< Y orefereRE o GUR §eT &, Ui T Wl S o GURT 1 o i T g ? B

TR FRUT WL HifAT | 4x1=4

While the Chinese economy has improved dramatically, why has every Chinese not

received the benefits of the reforms ? Give any four reasons.

“Heg T G GReE § HRE W S & W W EE 9 O 2 W
FIAT |

Why do some countries question the issue of India’s inclusion as a permanent

member of the U.N. Security Council ? Explain.

TataRT w B i & Froes #, waieRer seer S e S e ST |

Explain the role of Environmental Movements to meet the challenge of

Environmental Degradation.

g T F A THR A, R TR S TR A & 2

How did the coalition-like character of the Congress Pafty give it an unusual
strength ?

1977 & FATEH Ht ST T A FFE W 1975 ¥ TIT T S % S ST H0E
9 ¥ faan 2 =rEn i |

How did Janata Party make the 1977 elections into a referendum on the Emergency
imposed in 1975 ? Explain.

R i it sreieraren % Hieet  WE UROTHT 1 SIS ST i |

Critically examine the major outcomes of the Indian model of mixed economy.
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17. e R e sraeror S egEs vied ik Frafatea wet & 3 e 2+2+1=5

R 3 S S7OAT TeeA THT0] GRIT0T R ot 3R SER wiifaqut adterer # e | aRa

=1 Fe o1 o o rpeh @ fok wifaqel SRvdl § wEe FR w0 S AR % 0 g

Tweq & | R I aewro] wieror i T o 9 EX SRe] TeTi % fererst | gt e o |

1973 ¥ IRE-IRE T o & | T 15 R farear | ot o o0 STeTenie 7= €37 &1 | 3R

T A A H I A AR I A | IR T A | I weena ¥ o) T | wara

T FETERITT qgT AR @ TR |

(i) SR T AT TecA TCHIV] GHE0T Fa fofam SR =/ 2

(i) WRE ¥ T WH] THROT T, SW HTe H GRA FI TR T H, WoH HieA A
i T S 2

(iii) 1970 % TerF & wrew # ufet forw i we % T wRA F Heme wge @ i
gt 2

Read the following passage carefully and answer the following questions :

When India conducted its first nuclear test, it was termed as peaceful explosion. India
argued that it was committed to the policy of using nuclear power only for peaceful
purposes. The period when the nuclear test was conducted was a difficult period in
domestic politics. Following the Arab-Israel War of 1973, the entire world was
affected by the Oil Shock due to the massive hike in the oil prices by the Arab
nations. It led to economic turmoil in India resulting in high inflation.

(i) When did India conduct its first nuclear test and why ?

(ii) Why was the period, when the nuclear test was conducted in India, considered
to be a difficult period in domestic politics ?

(iii) Which international event of 1970s was responsible for high inflation in India ?

18. T&w Tw 3raeRor B EFyEE Uiey Y Frefafed et % S ST 142+2=5

T 3 Wi Gefiare] Srfsasn @ AR G oE e O1 | 9! Haer o o 5w 7+

T ETET § [ e eI 9 | v Ay st g qeaen o o fafemad @ was we

w1 Frelt Tnfies S | g9 Sfeia To9 H GuaT & i SR sawiaE @ & g

F qA AEH B A wiHer O | GfE EEr w el Rt # agen @ #R getart

T | B gE Ef | 3 Swnor A et ot defeas sran 1 et T St HSE e e

™ |

() TR & W feflae = T sgee 3 O T | uREd o v |

(i) e wE B He B T Sger ST 2

(i) e Rt R TR 3 P TE T @, o arderEen # R w3 % e
WA TR A Y 2
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Read the passage given below carefully and answer the following questions :

Each of these countries was required to make a total shift to a capitalist
economy, which meant rooting out completely any structures evolved during this
period. Above all, it meant that private ownership was to be the dominant pattern of
ownership of property.. Privatization of state assets and corporate ownership patterns
were to be immediately brought in. Collective farms were to be replaced by private
farming and capitalism in agriculture. This transition ruled out any alternate or ‘third

- way’.
(i) Name any two countries which were required to make a total shift.
(ii)) Why were the collective farms to be replaced by private farming ?

(iii) Since the ‘third way’ had been ruled out, what were the only two ways of
controlling the economy ?

19. = T T $RA 1 AFES e Hie i FEfdiad et & 3o S
2+1+2=5

..-" -';

r (/"I?)ﬁz,’%
il-ir =

F
"‘l‘ sLbj

SINCE 1989

]
N
¢ \k ke
@) ﬁ?ﬂqaﬂ?@ﬁﬁﬁw@aﬁmﬁﬁw

fafEw |
(i) YRT & TYW T & TG H Fdq1 9. 2 F BB B GoH [STEGTEIE TET F49T &7 2
(iii) 1989 % wiw T Frafew o, %9 TEAT UF & Aged a6t T I e /v ot 0
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Study the cartoon given below and answer the following questions :

SINCE 1989

(i) Identify any four national leaders from the above cartoon and mention the serial
number of each.

(ii) . Which was the most controversial issue of the petiod related to leader No.2 as
Prime Minister of India ?

(iii) What was the position of the party led by leader No.l1 in the Lok Sabha
elections of 1989 ?

Atz Frfafaa v e gheataa wWsntaat & o oo §em 19 F =H W E |
2+1+2=5
(19.1) 1984 % i w1 Fatem 3 for o1 3 Waitus Wi St iR ey Agea & 2
(19.2) 1990 ¥ g Hret H THR A D | Halitasw fgarreg o fomr 2
(19.3) foFg wuM ot = AT ST GURT 1 IS i 79 $HH F91 IROMH et 2
Note : This following questions are for Visually Impaired Candidates only in lieu
of Q. No. 19. d
(19.1) Which party had won the maximum number of seats in Lok Sabha
Elections of 1984 and under whose leadership ?
(19.2) What was the most controversial decision taken by the National Front
Government in 1990 ?
(19.3) Which Prime Minister started the new economic reforms and what was

its outcome ?
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e et Foe T & P Aeeentor 3 ROT T Y 4 A WHRI B A A
¥ 30 F HY b | HH A E | Tt g & TR T TN S R 0 T E
P S — L LR LR s o s R
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() T S O S G A sy T HIT |
(i) ‘HEIERRI T S YR T W& AT FARTHR T FAWE?
(iii) w%&wmﬁﬁmﬁmﬁﬂwﬁummw%?

Read the following passage carefully and answer the following questions :

At the most simple level, globalisation results in an erosion of state capacity,
that is, the ability of government to do what they do. All over the world, the old
‘welfare state’ is now giving way to a more minimalist state that performs certain
core functions such as the maintenance of law and order and the security of its
citizens. However, it withdraws from many of its earlier welfare functions dirécted at
economic and social well-being. In place of the welfare state, it is the market that

becomes the prime determinant of economic and social priorities.

(i) What do the words ‘erosion of state capacity’ imply ? Explain with the help of

an example.
(ii) Why is the concept of welfare state giving way to a minimalist state ?

(iii) How has market become the prime determinant of social priorities ?
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(ii)
(iii)
(iv)
()

VAT H T GETM ST RS | Hata A
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3] 39 o el e W B ¢ |
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TE 391 TR G Tt W E |
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In the given political outline map of South Asia, five countries have been marked as
@, , ©, @ and @ Identify them on the basis of the information given below

and write their correct names in your answer book along with their respective serial
number of the information used and the concerned alphabets as per the following
format :

Sr. No. of the information | Alphabet | Name of Country

(i) An important country but it is not considered to be a part of South Asia.

(ii)) The country has a successful Democratic System.

(iii) This country has had both Civilian and Military rulers.

(iv) This country had Constitutional Monarchy.

(v) An Island nation which was a Sultanate till 1968.

At FHeffga v Fao gheafaa odenfaat & oo o ¥ 21 & ®|H W

£ 2+1+2=5
(21.1) =feqor oftrar & v BE-PE 9 397 iHer BET S € 2

(21.2) =0T ofern & BT &1 S8 H S S EeaEs 9ot & ¥ ?

(21.3) T8 (SAARC) @1 99T (SAFTA) ¥ faga wv fotfiaw |

Note : The following questions are for visually impaired candidates only in lieu of
Q. No. 21.
(21.1) The expression ‘South Asia’ usually includes which countries ?

(21.2) Which two countries of South Asia have successfully operated
democratic system ?

(21.3) Write the full forms of SAARC and SAFTA.

22. W ST WG H g ¥ AR, W M H guE w6 e ¥ wens uikfefadt w5
favetoor T | $R W @ M T F FY W oABOEAT YSH S A e n

AT} T IeohE HIT | 2+4=6
et

25 S, 1975 * 9Ra § oo fefr @ Hwon feT o ¥ feg Strer ofRfefit @

fowetgm =if | 6

Analyse the circumstances that favoured Indira Gandhi to become Prime Minister
after the death of Lal Bahadur Shastri. Mention any four achievements of Indira
Gandhi that made her popular as a Prime Minister.

OR
Analyse the circumstances responsible for the decla;‘ation of a state of emergency in
India on 25" June, 1975.
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23, “@ﬂaﬁﬁﬁmﬁrw%wwwwwmm,@mm%w

ﬁ%mwr”wmaﬁw@ﬁaﬁawﬁ%mﬁéﬁﬂmﬁﬁﬁm 3x2=6
| argan

AN & UV ARA H ST S At S fer & wtew § dafue weah gar

T & fafar 85t =1 weror #ife | 3+3=6

“The accommodation of regional demands and the formation of linguistic states were
“also seen as more democratic.” Justify the statement with any three suitable _
arguments.
OR

Examine the different areas of agreement and disagreement with respect to the model
of economic development to be adopted in India after independence.

24, ?ﬁﬁw%mmﬁﬁWE:mmmaﬁﬁqﬁﬁmmwﬁ

PRI i de S ¥ AT QR ST v 8 T | 6x1=6
g
R o e o it TR Soma & r s ¥ 2 s it | 3+3=6
State any six post Cold War changes that have necessitated reforms to make the U.N.
work better.
OR

What is meant by traditional notions of internal and external security ? Explain.

25. ﬁ%wmﬁw%mw%mfmm%aﬁaﬁmmaﬁﬁ,w%w

aﬁqﬁﬁwq&aﬁvﬁwﬁ?ﬁmﬁﬁm I3x2=6
I LET)

o {5l 7 e PR T et Fi St e 9T w aiE GeET S der @

A W, T T & 37 & e seeerdt & | 3x2=6

Analyse the three different views within India about the type of relationship India
should have with the United States of America.
OR

Evaluate any three major factors responsible for making the European Union a

political force from being an economic force.
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06. e IF § iftas e B’ A SHReTE 991 dF TR faRret S S

FIT | 3+3=6
Ferar

T T FE 9% 3w ¥ T o 9% % 3R, ity e w1 Friver st ®

el AR O AT B T w1 F i @ €T o 9 S S | 6

Highlight any three positive and three negative features each of the Soviet system in
- the Soviet Union.
OR
How far is it correct to say the international alliances during the Cold War era were
determined by the requirements of the superpowers and the calculations of the
smaller states ? Explain.

27, WER GOET QRGN F4T & 7 4 gE gREe et € S, 6t gl fe o @t e =t

STt ¥ 2 TR e TR UE GErg & R 6 s oo ST | 2+42+2=6
aroran

fafereraatt o1 TEE FA 5T, KA H THAT B T T F T4 5, e U] HieT T €,

o Fraee andt Tt ¥ | e & O Pl ol et SO T | 3Ix2=6

What is Sardar Sarvovar Project ? Which benefits are expected to be if the project
becomes successful ? Also state the issues of relocation and rehabilitation associated
with it.

OR

While trying to forge and retain unity in diversity in India, there are many difficult
issues which are yet to be tackled. Describe any three such areas of tension.
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